15 & H $ iR K4 BE AN SRagEE
A | B HH BE ALEE HEEE =

4 25 BEEHE 150,000 150,000

4 12| EHEAE gfﬂg%ﬁ F (4R ~3A 33,000 117,000

4 14| BEHERE 1-2:3AMaE—EFERKE 171 116,829

7| 26| EFMERE 4-5-6 naE—EAEKE 377 116,452
P EE(SHMIEEREERUVIR

8| 19|BEXBEAE HHEEE) 1,666 114,786

10[ 14|&BH1ERE 7-8-9 AN —EAHS 271 114,515
F1TREEHMZESERESME

10] To[EtER 71-3hinEE XARELE 19970 9484

= I —= NN T

10| 19|BHBAE )gg (Ra=7(BBDRR 2,200 92,345
F1IREEHMZESERSME

1 4BHER 7+-3LinKE SmE 9.000 83,345

| sl mms 1%0'11'12H§J\:|t—ﬁﬁﬁ*4 234 83111

1| 18|EHEBEAE EE(TATHOHIEEL) 2,090 81,021
N EH (SHSEEBE T — RS- 15

2 G|ANMBAR ER2HPRERUFABRRE) 2,500 78,521

(IBE&ET) 150,000 71,479 78,521




